
Jøtul F 100  
 Jøtul F 100 cat no. 350710 BP,  Jøtul F 100 BBE cat no. 350711,Jøtul  F 100 SE BP cat no 350794, Jøtul F 100 GRE cat no. 350926, Jøtul F 100 IVE cat no 30049382

 Jøtul F 100 USA cat no. 350738 BP, Jøtul F 100 USA BBE, cat no. 350739, Jøtul F 100 USA IVE 350754, Jøtul F 100 USA GRE 350927
BP= Black Paint, BBE = Blue Black Enamel, IVE = Ivory  Enamel , GRE = Grey enamel

Antall
Pos. 
no. Spareparts Consist of pos.no: Benevnelse Description Dim./Spec.

1 1 10415092 Sideplate, venstre Side plate , left Cast iron min. 4mm thickness BP
1 1 10415027 Sideplate, venstre Side plate , left Cast iron min. 4mm thickness BBE
1 1 10415029 Sideplate, venstre Side plate , left Cast iron min. 4mm thickness IVE
1 1 10415046 Sideplate, venstre Side plate , left Cast iron min. 4mm thickness GRE
2 2 Pakning (til bakplate) Gasket (for rear plate) LD 250-2  Ø6,4x750mm
2 3 10416112 Deksel sekundærluft Cover for air manifold Cast iron min. 4mm thickness 
1 4 129949 Skjermplate bak, svart Heat shield rear, black Cast iron min. 4mm thickness 
1 4 220251 Skjermplate bak, ubeh alu zn Heat shield rear, untreated alu zn 0,9mm Alu zn belagt stål\coated steel
1 5 10411392 Røykhullsdeksel Smoke outlet cover Cast iron min. 4mm thickness BP
1 5 10411327 Røykhullsdeksel Smoke outlet cover Cast iron min. 4mm thickness BBE
1 5 10411329 Røykhullsdeksel Smoke outlet cover Cast iron min. 4mm thickness IVE
1 5 10437992 Røykhullsdeksel ny Smoke outlet cover new Cast iron min. 4mm thickness BP
1 5 10437927 Røykhullsdeksel ny Smoke outlet cover new Cast iron min. 4mm thickness BBE
1 5 10437946 Røykhullsdeksel ny Smoke outlet cover new Cast iron min. 4mm thickness GRE
1 6 10438292 Bakplate ny Rear plate new Cast iron min. 4mm thickness 
1 7 Pakning (til topp) Gasket (for top) LD 375-2   Ø9,5x1620mm
1 8 10411512 Hvelv Baffle Cast iron min. 4mm thickness 
1 9 10411492 Røykstuss, utvendig Ø125 Smoke outlet, non dripless Ø125 Cast iron min. 4mm thickness BP
1 9 10411427 Røykstuss, utvendig Ø125 Smoke outlet, non dripless Ø125 Cast iron min. 4mm thickness BBE
1 9 10411446 Røykstuss, utvendig Ø125 Smoke outlet, non dripless Ø125 Cast iron min. 4mm thickness GRE
1 76 10438092 Røykstuss innvendig Ø125 ny Smoke outlet, dripless Ø125 new Cast iron min. 4mm thickness BP
1 76 10438027 Røykstuss innvendig Ø125 ny Smoke outlet, dripless Ø125 new Cast iron min. 4mm thickness BBE
1 76 12049995 Røykstuss innvendig Ø125 ny Smoke outlet, dripless Ø125 new Cast iron min. 4mm thickness IVE

76 10438046 Røykstuss innvendig Ø125 ny Smoke outlet, dripless Ø125 new Cast iron min. 4mm thickness GRE
1 10 Pakning (til røykstuss) Gasket (for smoke outlet) LD 187-1   Ø4,8x500mm
1 11 155088 11,7 Topplate komplett Top plate , complete Cast iron min. 4mm thickness BP
1 11 155089 11,7 Topplate komplett Top plate , complete Cast iron min. 4mm thickness BBE
1 11 155291 11,7 Topplate komplett Top plate , complete Cast iron min. 4mm thickness IVE
1 11 155917 11,7,5 Topplate komplett ny Top plate , complete new Cast iron min. 4mm thickness BP
1 11 155918 11,7,5 Topplate komplett ny Top plate , complete new Cast iron min. 4mm thickness BBE
1 11 156133 11,7,5 Topplate komplett ny Top plate , complete new Cast iron min. 4mm thickness GRE
1 11 12033806 11,7,5 Topplate komplett ny Top plate , complete new Cast iron min. 4mm thickness  IVE
1 12 10415312 Fyrbunn Inner bottom Cast iron min. 4mm thickness 
2 13 10415212 Brennplate, side Burn plate, side Cast iron min. 4mm thickness 
1 14 10414992 Sideplate, høyre Side plate , right Cast iron min. 4mm thickness BP
1 14 10414927 Sideplate, høyre Side plate , right Cast iron min. 4mm thickness BBE
1 14 10414929 Sideplate, høyre Side plate , right Cast iron min. 4mm thickness IVE

14 10414946 Sideplate, høyre Side plate , right Cast iron min. 4mm thickness GRE
1 15 10378092 Ventilsleide Valve Cast iron min. 4mm thickness BP
1 16 10411812 Ventilplate Valve plate Cast iron min. 4mm thickness 
1 17 Pakning(til Ventilplate) Gasket (for valve plate) LD 250-2   Ø6,4x835mm

Sparparts_F_100_4-3854-P19_291018 1 av 4



Jøtul F 100  
 Jøtul F 100 cat no. 350710 BP,  Jøtul F 100 BBE cat no. 350711,Jøtul  F 100 SE BP cat no 350794, Jøtul F 100 GRE cat no. 350926, Jøtul F 100 IVE cat no 30049382

 Jøtul F 100 USA cat no. 350738 BP, Jøtul F 100 USA BBE, cat no. 350739, Jøtul F 100 USA IVE 350754, Jøtul F 100 USA GRE 350927
BP= Black Paint, BBE = Blue Black Enamel, IVE = Ivory  Enamel , GRE = Grey enamel

Antall
Pos. 
no. Spareparts Consist of pos.no: Benevnelse Description Dim./Spec.

1 18 10411792 Luftbrem Utgått. Erstattes av 12030879 Air Deflector  Discontinued, replaced by 12030879 Cast iron min. 4mm thickness BP
1 18 12030879 LUFTBREM F100 BP Air Deflector F100 BP Cast iron min. 4mm thickness BP
2 19 127075 Hengseldubb, sortkromatisert Hinge pin, black chromated Ø6x33mm
2 19 125960 Hengseldubb, forniklet Hinge pin, nickel plated Ø6x33mm
1 20 Pakning (til dør) Gasket (for door) LD 375-2   Ø9,5x1620mm
2 22 153620 Glassklips Glass Clip 0,9mm stål\steel
1 24 Pakning (til glass) Gasket (for glass) LD 250-2   Ø6,4x1300mm
1 25 129976 Glass Glass 379x270x4mm, keramisk\ceramic
1 26 126164 Fjær for vrider (klinke) Spring
1 27 10023684 Z skrue spesial Long dog point special Steel
1 27 117733 Spennstift lengde Spring Pin Ø5x24mm
1 28 10371292 Vrider (Klinke) svart lakkert Latch, black painted Cast iron min. 4mm thickness 
1 28 128760 Vrider (Klinke) forniklet Latch, nickel-plated Cast iron min. 4mm thickness 

28 155461 26,27,28,29,30,31,32,33,34,35,38, Vrider kompl (Klinke) svart lakkert Latch complete, black painted
28 155462 26,27,28,29,30,31,32,33,34,35,38, Vrider kompl (Klinke) forniklet Latch complete, nickel-plated

1 29 117796 Skrue, maskin panhode pozidrive Screw, machine pan head pozidrive M6x40, DIN 7985
1 30 110904 Skive Washer Ø6,4xØ12,5x1,6, St8,8, DIN 125
1 31 126229 Hylse Sleeve Ø8xØ6xL27,5mm
1 32 126244 Treknott Wooden knob hardved\hard wood
1 33 124853 Skive Klingeritt (isolerende) Washer, insulating Special
1 34 116832 Mutter  sekskant Nut hexagon M6, St8,8, DIN 934
1 35 117587 Skive svartkromatisert spesial Washer, black-chromated, special Ø10,5x25x1,5
1 36 155079 19,20,22,24,26,27,28,29,30,31,32,33,34,35,36,37,38,51 Dør komplett - u/glass Door , complete excl/glass BP
1 36 155080 19,20,22,24,26,27,28,29,30,31,32,33,34,35,36,37,38,51 Dør komplett - u/glass Door , complete excl/glass BBE
1 36 155288 19,20,22,24,26,27,28,29,30,31,32,33,34,35,36,37,38,51 Dør komplett - u/glass Door , complete excl/glass IVE

36 156131 19,20,22,24,26,27,28,29,30,31,32,33,34,35,36,37,38,51 Dør komplett - u/glass Door , complete excl/glass GRE
1 36 155961 19,20,22,24,26,27,28,29,30,31,32,33,34,35,36,37,38,51 Dør komplett - u/glass F 100 SE Door , complete excl/glass F100 SE BP
1 37 Pakning (til dør) Gasket (for door) LD V-125  Flat 8x30mm
1 38 129208 Stengejern Latch bolt st 37
1 39 10415192 Frontplate Utgått. Erstattes av 12018374 Front plate. Discontinued, replaced by 12018374 Cast iron min. 4mm thickness BP
1 39 10415127 Frontplate Utgått. Erstattes av 12018374 Front plate Discontinued, replaced by 12018374 Cast iron min. 4mm thickness BBE
1 39 10415129 Frontplate Utgått. Erstattes av 12018374 Front plate Discontinued, replaced by 12018374 Cast iron min. 4mm thickness IVE
1 39 10415146 Frontplate Utgått. Erstattes av 12018374 Front plate Discontinued, replaced by 12018374 Cast iron min. 4mm thickness GRE
1 39 12018374 Front F100 BP Front F100 BP
1 40 155085 Askeleppe pakket Ash lip packed Cast iron min. 4mm thickness BP
1 40 155086 Askeleppe pakket Ash lip packed Cast iron min. 4mm thickness BBE
1 40 155289 Askeleppe pakket Ash lip packed Cast iron min. 4mm thickness IVE

40 156132 Askeleppe pakket Ash lip packed Cast iron min. 4mm thickness GRE
1 41 10415492 Kubbestopper/askelist Log/Ash retainer Cast iron min. 4mm thickness BP
4 42 10195292 Ben 155mm Leg 155mm Cast iron min. 4mm thickness BP
4 42 10195227 Ben 155mm Leg 155mm Cast iron min. 4mm thickness BBE

Sparparts_F_100_4-3854-P19_291018 2 av 4



Jøtul F 100  
 Jøtul F 100 cat no. 350710 BP,  Jøtul F 100 BBE cat no. 350711,Jøtul  F 100 SE BP cat no 350794, Jøtul F 100 GRE cat no. 350926, Jøtul F 100 IVE cat no 30049382

 Jøtul F 100 USA cat no. 350738 BP, Jøtul F 100 USA BBE, cat no. 350739, Jøtul F 100 USA IVE 350754, Jøtul F 100 USA GRE 350927
BP= Black Paint, BBE = Blue Black Enamel, IVE = Ivory  Enamel , GRE = Grey enamel

Antall
Pos. 
no. Spareparts Consist of pos.no: Benevnelse Description Dim./Spec.

4 42 10195229 Ben 155mm Leg 155mm Cast iron min. 4mm thickness IVE
4 42 10195246 Ben 155mm Leg 155mm Cast iron min. 4mm thickness GRE
1 43 10412112 Ventil/deksel Valve/cover plate Cast iron min. 4mm thickness 
1 44 10413992 Bunnplate Bottom plate Cast iron min. 4mm thickness BP
1 44 10413927 Bunnplate Bottom plate Cast iron min. 4mm thickness BBE
1 44 10413929 Bunnplate Bottom plate Cast iron min. 4mm thickness IVE

44 10413946 Bunnplate Bottom plate Cast iron min. 4mm thickness GRE
1 45 129950 Skjermplate, under Heat shield, under AluZn belagt stål\coated steel 
1 46 117097 Skrue, sekskanthode Screw, hexagon cap M6x50, St8.8, DIN 933
4 47 117099 Skrue, sekskanthode med flens Screw, hexagon cap flange M6x25, St8.8
17 48 117118 Skrue, sekskanthode med flens Screw, hexagon cap flange M6x16, St8.8
6 49 117130 Skrue, sekskanthode med flens Screw, hexagon cap flange M6x12, St8.8
6 50 117452 Skive Washer Ø8,4xØ20x1,5, St8,8, DIN 522
2 51 117505 Skrue, maskin panhode pozidrive Screw, machine pan head pozidrive M6x8, DIN 7985
1 52 117880 Mutter,  sekskant med flens Nut, cap flange M6, St8,8, DIN 6923
1 53 Pakning (til bakplate) Gasket (for rear plate) LD V-125  Flat 8x30mm
1 70 128934 Hylse Sleeve Ø6,2xØ10xL10mm
1 71 129946 Ventilstang Handle ø6mm stål\steel
1 72 128345 Løst handtak forniklet støpejern Loose handle nickel plated cast iron Cast iron min. 4mm thickness 
1 72 221807 Løst håndtak flat loose handle flat 2mm steel
1 73 129955 Askeskuff Ash pan 1mm Alu dip stål\steel
1 74 10415692 Askerist f/kullfyring/askeløsning 12030909 Grate, (for multifuel) Repaced by 12030909 Cast iron min. 4mm thickness BP
1 74 12030909 FYRRIST F100 BP Grate, (for multifuel) F100 BP Cast iron min. 4mm thickness BP
1 75 10415712 Fyrbunn bakre, f/kullfyring/askeløsning Inner bottom, rear, (for multifuel) Cast iron min. 4mm thickness 
1 76 155218 Røykstuss innvendig Ø125 UK Smoke outlet, dripless Ø125 UK Cast iron min. 4mm thickness BP
1 76 155219 Røykstuss innvendig Ø125 UK Smoke outlet, dripless Ø125 UK Cast iron min. 4mm thickness BBE
1 76 155290 Røykstuss innvendig Ø125 UK Smoke outlet, dripless Ø125 UK Cast iron min. 4mm thickness IVE
1 76 156138 Røykstuss innvendig Ø125 UK Smoke outlet, dripless Ø125 UK Cast iron min. 4mm thickness GRE
1 76 155483 Røykstuss innvendig Ø150 USA Smoke outlet, dripless Ø6" USA Cast iron min. 4mm thickness BP
1 76 155484 Røykstuss innvendig Ø150 USA Smoke outlet, dripless Ø6" USA Cast iron min. 4mm thickness BBE

76 156137 Røykstuss innvendig Ø150 USA Smoke outlet, dripless Ø6" USA Cast iron min. 4mm thickness GRE
1 151991 29,30,31,32,33,34 Pose m/treknott og smådeler Wooden knob and  small parts

350340 Gulvplate Floor plate Cast iron min. 4mm thickness BBE
350342 Gulvplate Floor plate Cast iron min. 4mm thickness IVE
350936 Gulvplate Floor plate Cast iron min. 4mm thickness GRE
350173 Ben 155mm (4stk) Leg 155mm (4pcs) Cast iron min. 4mm thickness BP
350174 Ben 155mm (4stk) Leg 155mm (4pcs) Cast iron min. 4mm thickness BBE
350176 Ben 155mm (4stk) Leg 155mm (4pcs) Cast iron min. 4mm thickness IVE
350938 Ben 155mm (4stk) Leg 155mm (4pcs) Cast iron min. 4mm thickness GRE
350735 Ben 215 mm (4stk) Leg 215 mm (4pcs) Cast iron min. 4mm thickness BP

Sparparts_F_100_4-3854-P19_291018 3 av 4



Jøtul F 100  
 Jøtul F 100 cat no. 350710 BP,  Jøtul F 100 BBE cat no. 350711,Jøtul  F 100 SE BP cat no 350794, Jøtul F 100 GRE cat no. 350926, Jøtul F 100 IVE cat no 30049382

 Jøtul F 100 USA cat no. 350738 BP, Jøtul F 100 USA BBE, cat no. 350739, Jøtul F 100 USA IVE 350754, Jøtul F 100 USA GRE 350927
BP= Black Paint, BBE = Blue Black Enamel, IVE = Ivory  Enamel , GRE = Grey enamel

Antall
Pos. 
no. Spareparts Consist of pos.no: Benevnelse Description Dim./Spec.

350736 Ben 215 mm (4stk) Leg 215 mm (4pcs) Cast iron min. 4mm thickness BBE
350755 Ben 215 mm (4stk) Leg 215 mm (4pcs) Cast iron min. 4mm thickness IVE
350937 Ben 215 mm (4stk) Leg 215 mm (4pcs) Cast iron min. 4mm thickness GRE
10192592 Ben 215mm (1stk) Leg 215mm (1pcs) Cast iron min. 4mm thickness BP
10192527 Ben 215mm (1stk) Leg 215mm (1pcs) Cast iron min. 4mm thickness BBE
10192529 Ben 215mm (1stk) Leg 215mm (1pcs) Cast iron min. 4mm thickness IVE
10192546 Ben 215mm (1stk) Leg 215mm (1pcs) Cast iron min. 4mm thickness GRE
154615 Fjær for selvlukkende dør Spring for self closing door
350718 Sett f/kullfyring/askeløsning Multifuel Kit
350743 Ekstra skjermplate bak, Sverige

Draw.no 4-3854-P19

Sparparts_F_100_4-3854-P19_291018 4 av 4


